
𝑎 · 𝑏 = 𝑎𝑏

 

 𝐷𝑚(𝑓) =] − 5; 8]

 𝑓(𝑥) = 0 ⇒ 𝑥 = 3

 (6; −4)

 

 𝑥 = −2

(6 + 3 · (−2)) · (−6 · (−2) + 24) = 0 

⇒ (6 − 6) · (12 + 24) = 0 

⇒ 0 = 0

𝑥 = −2

6 + 3𝑥 = 0 ∨ −6𝑥 + 24 = 0

0 0

−6𝑥 + 24 = 0 ⇔ −6𝑥 = −24 ⇔ 6𝑥 = 24 ⇔ 𝑥 =
24

6
= 4

𝑥 = −2 ∨ 𝑥 = 4



 

𝑎 = 1 + 𝑟 = 1 +
20

100
= 1.2

15.7

𝑅(𝑥) = 15.7 · 1.2𝑥

𝑅(𝑥)

𝑥

 

𝑓′(𝑥) = −10𝑥 + 10

𝑓′(𝑥) = 0 𝑥 = 1

0 2

𝑓′(0) = −10 · 0 + 10 = 10 

𝑓′(2) = −10 · 2 + 10 = −10

𝑥 = 1

 𝑓(𝑥) ] − ∞ ; 1] 

 𝑓(𝑥) [1; ∞[

𝑎 𝑓(𝑥) 𝑎 < 0 𝑥

𝑥 = 1

 50% 26000kr



𝑎 · 𝑏 = 𝑎𝑏

 𝑃 = 1000

1000 = 100 · 𝑥0.6 · 𝑦0.4

0.4 = 2/5 0.6 = 3/5

1000 = 100 · 𝑥
3
5 · 𝑦

2
5 ⇔ 

10 = 𝑥
3
5 · 𝑦

2
5 ⇔ 

𝑥
3
5 =

10

𝑦
2
5

⇔ 

𝑥 = (
10

𝑦
2
5

)

5
3

=
10

5
3

𝑦
2
3

= 10
5
3 · 𝑦−

2
3

 𝑥 = (𝑥 − 2)2

𝑥 = (𝑥 − 2)2

𝑥 = 𝑥2 + 4 − 4𝑥

𝑥2 − 5𝑥 + 4 = 0 𝑥

𝑥 = 1 ∨ 𝑥 = 4



 

 5%

𝑝 5%



 𝑅(𝑥) = −𝑥2 + 502𝑥, 25 ≤ 𝑥 ≤ 475

𝑎 < 0

𝑇𝑥 = −
𝑏

2𝑎
= −

502

2 · (−1)
= 251 

𝑇𝑦 = −
𝑏2 − 4𝑎𝑐 

4𝑎
= −

5022 − 4 · (−1) · 0 

4 · (−1)
= 63001

251 63001kr

 𝐶(𝑥) = 25 ≤ 𝑥 ≤ 475

𝐷𝐵(𝑥) = 𝑅(𝑥) − 𝐶(𝑥) = −𝑥2 + 502𝑥 − 50𝑥 = −𝑥2 + 452𝑥

𝐷𝐵(𝑥) = 0

−𝑥2 + 452𝑥 = 0 ⇔ 𝑥2 − 452𝑥 = 0 ⇔ 𝑥(𝑥 − 452) = 0

𝑥 = 0 𝑥 = 0 𝑥 = 452

25 ≤ 𝑥 < 452

 𝐺 = 25000 𝑦 = 728 𝑛 = 60

25000 = 728 ·
1 − (1 + 𝑟)−60

𝑟



𝑟eff = (1 + 𝑟)𝑛 − 1

𝑟eff = (1 + 0.0205)12 − 1 = 0.2757

27.57%

 

 𝑓(𝑥) 𝐴 𝑓′(𝑥) 𝐵 𝐵

𝑓′(𝑥) 𝑥 𝑓(𝑥) 𝑓′(𝑥)

𝑥 𝑓(𝑥)

𝑓′(𝑥) 𝑥 𝑓′(𝑥) = 0

𝑓(𝑥)

𝑥 = 1 𝑓′(𝑥) 𝑥 = 1



 𝑥𝑦

𝑝(𝑥) = 𝑎 · 𝑥 + 𝑏

𝑝(𝑥) = −0.0384𝑥 + 2180.497

𝑝(𝑥) 𝑥

 925kr

𝑝(𝑥) = 925 ⇔ 

−0.0384𝑥 + 2180.497 = 925 ⇔ 

−0.0384𝑥 = −1255.497 ⇔ 

𝑥 =
1255.497

0.0384
= 32695.234375

925 32695



 

𝐷𝑒𝑓𝑒𝑘𝑡𝑒 = 1500 ·
5

100
= 75

1500 75

 

65

12.90%

0.129 = 12.9%



 

 

 𝑥 = 341423

 𝑚 = 330254

 420386

= FRAKTIL(dataområde; k)



= FRAKTIL(A2: A23; 0,9)

 

𝑓(𝑥, 𝑦) = 15𝑥 + 20𝑦

𝑥 𝑦

𝑓(𝑥, 𝑦)

 

(5; 10), (7; 5), (19; 2),  

𝑓(5,10) = 15 · 5 + 20 · 10 = 275 

𝑓(7,5) = 15 · 7 + 20 · 5 = 205 

𝑓(19,2) = 15 · 19 + 20 · 2 = 325

𝑓(7,5) = 205




